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Hex code

*—|*
W*=ICigLaB, ¢
(relative)

Wihput

radial gratings (Siemensstar)N-W

radial gratings (Siemensstars)N-Z
RE990-3, Picture A1We: Element A: radial grating—-W, W-N, N-ZandW-Z; PS operatonw* setgray

18.0/2.5 37.3/9.7

0,000 0,250

18.0/25 23.2/3.8

0,000 0,067
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http://130.149.60.45/~farbmetrik/REQ9/RE99LONP.PDF /.PS; transfer output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/2
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radial gratings (Siemensstars)W-Z

background step O 1 ringstep 0-1
Hex code Hex code
7 8 7-8
E F E-F
2 0 2-0
8 6 8-6
F D F-D

Landolt-rings W-N

code: background-ring

RE991-1, Picture A4We: Element D: Landolt-ringsV-N, PS operatow* setgray

8 136 144 15P 160 168 176 184 192 P00 208 |216| 224 232 240

27 7fa 7 et

.- -

.k
S U7 2070, >

line raster diameter inlpi

56.7/24.6 76.1/49.9 95.4/8R@min.) Wi (max.)

0,500

28.3/5.6 33.5/7.8 38.6/10.5 43.8/13.7 49.0/17.6 54.1/22.1 59.3/27.3 64.4/33.3 69.6/40.2 74.8/47.9 79.9/56.5 85.176632 9B04288.6

1

0,133

0,750

RE990-5, Picture A2We: Element B: 5 visual equidistaht-grey steps- NO + W1, PS operatorw* setgray

0,200 0,267

1,000 Ng(min.) W;(max.)

0,333 0,400

RE990-7, Picture A3We: Element C: 16 visual equidistat-grey steps; PS operatov* setgray

test chart RE99; ME16(ISO 9241-306), 3(ISO/IEC 15775)input: rgb/cmyk —> rgh

achromatic test cha, 3D=0, de=1sRGB
C M Y

RE991-3, Picture ASWe: Element E: Line raster under 45° (or 135°); PS operatbsetgray

120|128 136 144 15 160 168 16 184 192 P00 [208|216|224 232 240

1(38) 240

(fg) 120

2 60

D 30
15| 16| 17| 18] 19] 20| 21| 22| 23| 24| 25| 26| 27| 28| 29 30

line raster diameter inIpi

RE991-5, Picture A6We: Element F: Line raster under 90° (or 0°); PS operatdisetgray

0,467 0,533 0,600 0,667 0,733 0,800 0,867

0,933

A1a1an_£n
I 100—10

output: transfer togbe
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